Is a square matrix symmetric?
Problem:  
Write a function to find if a given square matrix is symmetric. 
Hints:

1. A matrix is considered square if its number of rows is same as the number of columns.  
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A

 is an example of a 3x3 square matrix as it has same number of rows and columns, that is, three.
2. If aij is the ith row and the jth column element of a nxn square matrix [A], then [A] is called a symmetric matrix if aij= aji for all possible values of i and j, that is, i=1...n, j=1…n.  For example, 
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A

 is symmetric, like a12= a21=6,  a23= a32=2, etc.
Specifications:  Write a function to find if a given square matrix is symmetric
function flag=sym_matrix(A)  

The input parameters are 


A = square matrix of order nxn
You need to use loop(s) in the procedure to find if a given square matrix is symmetric.   Return the value of a variable called flag as 0 if [A] is symmetric, and as 1 if [A] is not symmetric.  
Test the procedure properly with at least 4 different matrices.  Note your procedure should work for any square matrix.
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